# CERTAIN SUBCLASS OF MEROMORPHIC FUNCTIONS INVOLVING BESSEL OPERATOR 

A.S. Shinde, R.N. Ingle, P.T Reddy

Abstract. In this paper, we introduce and study a new subclass of meromorphically uniformly convex functions with positive coefficients defined by a bessel operator and obtain coefficient estimates, growth and distortion theorem, radius of convexity, integral transforms, convex linear combinations, convolution properties and $\delta$-neighborhoods for the defined class.

2010 Mathematics Subject Classification: 30C45.
Keywords: Uniformly convex, Uniformly starlike ,Coefficient estimates.

## 1. Introduction

Let $\Sigma$ denote the class of meromorphic functions of the form

$$
\begin{equation*}
f(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m} \tag{1}
\end{equation*}
$$

which are regular in domain

$$
U=\{z: z \in \mathbb{C} \text { and } 0<|z|<1\} .
$$

Also, let $\Sigma_{p}$ denote the subclass of $\Sigma$ of functions of the form (1) with $a_{m} \geq 0$.
A function $f \in \Sigma$ is said to be meromorphically starlike of order $\alpha$ if it satisfies

$$
\operatorname{Re}\left\{-\frac{z f^{\prime}(z)}{f(z)}\right\}>\alpha
$$

for some $\alpha(0 \leq \alpha<1)$ and for all $z \in U$. Further, a function $f \in \Sigma$ is said to be meromorphically convex of order $\alpha$ if it satisfies

$$
\operatorname{Re}\left\{-1-\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right\}>\alpha
$$

for some $\alpha(0 \leq \alpha<1)$ and for all $z \in U$.
Some subclasses of $\Sigma$ were described and investigated by Pommerenke [5], Miller [3], Mogra et al. [4] and see also [7, 8].

We recollect here the generalized Bessel function of first kind of order $\gamma$ (see [1]), denoted by

$$
w(z)=\sum_{m=0}^{\infty} \frac{(-c)^{m}}{m!\Gamma\left(\gamma+m+\frac{b+1}{2}\right)}\left(\frac{z}{2}\right)^{2 m+\gamma}(z \in U)
$$

(where $\Gamma$ stands for the Gamma Euler function), which is the particular solution of the second-order linear homogeneous differential equation (see, for details, [9] )

$$
z^{2} w^{\prime \prime}(z)+b z w^{\prime}(z)+\left[c z^{2}-\gamma^{2}+(1-b) \gamma\right] w(z)=0
$$

where $c, \gamma, b \in \mathbb{C}$. We introduce the function $\varphi$ defined, in terms of the generalized Bessel function $w$ by

$$
\varphi(z)=2^{\gamma} \Gamma\left(\gamma+\frac{b+1}{2}\right) z^{-\left(1+\frac{\gamma}{2}\right)} w(\sqrt{z}) .
$$

By using the well-known Pochhammer symbol $(x)_{\mu}$ defined, for $x \in \mathbb{C}$ and in terms of the Euler gamma function, by

$$
(x)_{\mu}=\frac{\Gamma(x+\mu)}{\Gamma(x)}= \begin{cases}1, & (\mu=0) ; \\ x(x+1)(x+2) \cdots(x+m-1), & (\mu=m \in \mathbb{N}=\{1,2,3 \cdots\}) .\end{cases}
$$

We obtain the following series representation for the function $\varphi(z)$

$$
\varphi(z)=\frac{1}{z}+\sum_{m=0}^{\infty} \frac{(-c)^{m+1}}{4^{m+1}(m+1)!(\tau)_{m+1}} z^{m}\left(\tau=\gamma+\frac{b+1}{2} \notin \mathbb{Z}_{0}^{-}=\{0,-1,-2, \cdots\}\right) .
$$

For functions $f \in \Sigma$ given by (1) and $g \in \Sigma$ given by

$$
g(z)=\frac{1}{z}+\sum_{m=1}^{\infty} b_{m} z^{m}
$$

we define the Hadamard product of $f$ and $g$ by

$$
(f * g)(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} b_{m} z^{m} .
$$

Corresponding to the function $\varphi$ define the Bessel operator $S_{\tau}{ }^{c}$ by the following Hadamard product

$$
\begin{align*}
S_{\tau}{ }^{c} f(z)=(\varphi * f)(z) & =\frac{1}{z}+\sum_{m=0}^{\infty} \frac{\left(\frac{-c}{4}\right)^{m+1} a_{m}}{(m+1)!(\tau)_{m+1}} z^{m} \\
& =\frac{1}{z}+\sum_{m=1}^{\infty} \phi(m, \tau, c,) a_{m} z^{m}, \tag{2}
\end{align*}
$$

where $\phi(m, \tau, c)=,\frac{\left(\frac{-c}{4}\right)^{m}}{(m)!(\tau)_{m}}$.
It easy to verify from the definition (2) that

$$
\begin{equation*}
z\left[S_{\tau+1}^{c} f(z)\right]=\tau S_{\tau}^{c} f(z)-(\tau+1) S_{\tau+1}^{c} f(z) . \tag{3}
\end{equation*}
$$

Motivated by Venkateswarlu et al. [7, 8], now we define a new subclass $\Sigma_{p}(\tau, c, \alpha, \beta)$ of $\Sigma_{p}$.

Definition 1. For $-1 \leq \alpha<1$ and $\beta \geq 1$, we let $\Sigma_{p}(\tau, c, \alpha, \beta)$ be the subclass of $\Sigma_{p}$ consisting of the form (1) and satisfying the analytic criterion

$$
\begin{equation*}
-\operatorname{Re}\left\{\frac{z\left(S_{\tau}{ }^{c} f(z)\right)^{\prime}}{S_{\tau}{ }^{c} f(z)}+\alpha\right\}>\beta\left|\frac{z\left(S_{\tau}{ }^{c} f(z)\right)^{\prime}}{S_{\tau}{ }^{c} f(z)}+1\right|, \tag{4}
\end{equation*}
$$

$S_{\tau}{ }^{c} f(z)$ is given by (2)
The main object of the paper is to study some usual properties of the geometric function theory such as coefficient bounds, growth and distortion properties, radius of convexity, convex linear combination and convolution properties, integral operators and $\delta$-neighbourhoods for the class $\Sigma_{p}(\tau, c, \alpha, \beta)$.

## 2. Coefficient inequality

In this section we obtain the coefficient bounds of function $f(z)$ for the class $\Sigma_{p}(\tau, c, \alpha, \beta)$.
Theorem 1. A function $f(z)$ of the form (1) is in $\Sigma_{p}(\tau, c, \alpha, \beta)$ if

$$
\begin{equation*}
\sum_{m=1}^{\infty} \phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]\left|a_{m}\right| \leq(1-\alpha)(-1 \leq \alpha<1 \text { and } \beta \geq 1) \tag{5}
\end{equation*}
$$

Proof. It sufficient to show that

$$
\beta\left|\frac{z\left(S_{\tau}{ }^{c} f(z)\right)^{\prime}}{S_{\tau}{ }^{c} f(z)}+1\right|+\operatorname{Re}\left\{\frac{z\left(S_{\tau}{ }^{c} f(z)\right)^{\prime}}{S_{\tau}{ }^{c} f(z)}+1\right\} \leq(1-\alpha) .
$$

We have $\beta\left|\frac{z\left(S_{\tau}{ }^{c} f(z)\right)^{\prime}}{S_{\tau}{ }^{c} f(z)}+1\right|+\operatorname{Re}\left\{\frac{z\left(S_{\tau}{ }^{c} f(z)\right)^{\prime}}{S_{\tau}{ }^{c} f(z)}+1\right\}$

$$
\begin{aligned}
& \leq(1+\beta)\left|\frac{z\left(S_{\tau}{ }^{c} f(z)\right)^{\prime}}{S_{\tau}^{c} f(z)}+1\right| \\
& \leq \frac{(1+\beta) \sum_{m=1}^{\infty} \phi(m, \tau, c,)(m+1)\left|a_{m}\right|\left|z^{m}\right|}{\frac{1}{|z|}-\sum_{m=1}^{\infty} \phi(m, \tau, c,)\left|a_{m}\right|\left|z^{m}\right|}
\end{aligned}
$$

Letting $z \rightarrow 1$ along the real axis, we obtain

$$
\leq \frac{(1+\beta) \sum_{m=1}^{\infty} \phi(m, \tau, c,)(m+1)\left|a_{m}\right|}{1-\sum_{m=1}^{\infty} \phi(m, \tau, c,)\left|a_{m}\right|} .
$$

The above expression is bounded by $(1-\alpha)$ if

$$
\sum_{m=1}^{\infty} \phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]\left|a_{m}\right| \leq(1-\alpha) .
$$

Hence the theorem is completed.
Corollary 2. Let the function $f(z)$ defined by (1) be in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$. Then

$$
\begin{equation*}
a_{m} \leq \frac{(1-\alpha)}{\sum_{m=1}^{\infty} \phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]} \quad(m \geq 1) \tag{6}
\end{equation*}
$$

Equality holds for the function of the form

$$
\begin{equation*}
f_{m}(z)=\frac{1}{z}+\frac{(1-\alpha)}{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]} z^{m} . \tag{7}
\end{equation*}
$$

## 3. Distortion Theorems

In this section we obtain distortion bounds for the class $\Sigma_{p}(\tau, c, \alpha, \beta)$.
Theorem 3. Let the function $f(z)$ defined by (1) be in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$. Then for $0<|z|=r<1$,

$$
\begin{equation*}
\frac{1}{r}-\frac{(1-\alpha)}{\phi(1, \tau, c)[3+2 \beta-\alpha]} r \leq|f(z)| \leq \frac{1}{r}+\frac{(1-\alpha)}{\phi(1, \tau, c)[3+2 \beta-\alpha]} r \tag{8}
\end{equation*}
$$

with equality for the function

$$
\begin{equation*}
f(z)=\frac{1}{z}+\frac{(1-\alpha)}{\phi(1, \tau, c)[3+2 \beta-\alpha]} z \text { at } z=r, i r . \tag{9}
\end{equation*}
$$

Proof. Suppose $f(z)$ is in $\Sigma_{p}(\tau, c, \alpha, \beta)$. In view of Theorem 1, we have
$\phi(1, \tau, c)[3+2 \beta-\alpha] \sum_{m=1}^{\infty} a_{m} \leq \sum_{m=1}^{\infty} \phi(m, \tau, c),[(1+\beta)(m+1)+1-\alpha] \leq(1-\alpha)$
which evidently yields $\sum_{m=1}^{\infty} a_{m} \leq \frac{1-\alpha}{\phi(1, \tau, c)[3+2 \beta-\alpha]}$.
Consequently, we obtain

$$
\begin{aligned}
|f(z)| & =\left|\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m}\right| \leq\left|\frac{1}{z}\right|+\sum_{m=1}^{\infty} a_{m}|z|^{m} \\
& \leq \frac{1}{r}+r \sum_{m=1}^{\infty} a_{m} \\
& \leq \frac{1}{r}+\frac{1-\alpha}{\phi(1, \tau, c)[3+2 \beta-\alpha]} r .
\end{aligned}
$$

Also, $|f(z)|=\left|\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m}\right| \geq\left|\frac{1}{z}\right|-\sum_{m=1}^{\infty} a_{m}|z|^{m}$

$$
\geq \frac{1}{r}-r \sum_{m=1}^{\infty} a_{m}
$$

$$
\geq \frac{1}{r}-\frac{1-\alpha}{\phi(1, \tau, c)[3+2 \beta-\alpha]} r .
$$

Hence the results (8) follow.
Theorem 4. Let the function $f(z)$ defined by (1) be in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$. Then for $0<|z|=r<1$,

$$
\frac{1}{r^{2}}-\frac{1-\alpha}{\phi(1, \tau, c)[3+2 \beta-\alpha]} \leq\left|f^{\prime}(z)\right| \leq \frac{1}{r^{2}}+\frac{1-\alpha}{\phi(1, \tau, c)[3+2 \beta-\alpha]} .
$$

The result is sharp, the extremal function being of the form (7)
Proof. From Theorem 1, we have
$\phi(1, \tau, c)[3+2 \beta-\alpha] \sum_{m=1}^{\infty} m a_{m} \leq \sum_{m=1}^{\infty} \phi(m, \tau, c),[(1+\beta)(m+1)+1-\alpha] \leq(1-\alpha)$
which evidently yields $\sum_{m=1}^{\infty} m a_{m} \leq \frac{1-\alpha}{\phi(1, \tau, c)[3+2 \beta-\alpha]}$.
Consequently, we obtain

$$
\begin{aligned}
\left|f^{\prime}(z)\right| & \leq\left|\frac{1}{r^{2}}+\sum_{m=1}^{\infty} m a_{m} r^{m-1}\right| \\
& \leq \frac{1}{r^{2}}+\sum_{m=1}^{\infty} m a_{m} \\
& \leq \frac{1}{r^{2}}+\frac{(1-\alpha)}{\phi(1, \tau, c)[3+2 \beta-\alpha]} . \\
\text { Also, }\left|f^{\prime}(z)\right| & \geq\left|\frac{1}{r^{2}}-\sum_{m=1}^{\infty} m a_{m} r^{m-1}\right| \\
& \geq \frac{1}{r^{2}}-\sum_{m=1}^{\infty} m a_{m} \\
& \geq \frac{1}{r^{2}}+\frac{(1-\alpha)}{(\phi(1, \tau, c)[3+2 \beta-\alpha]} .
\end{aligned}
$$

This completes the proof.

## 4. Class preserving integral operators

In this section we consider the class preserving integral operator of the form (1).
Theorem 5. Let the function $f(z)$ defined by (1) be in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$. Then

$$
\begin{equation*}
f(z)=v z^{-v-1} \int_{0}^{z} t^{v} f(t) d t=\frac{1}{z}+\sum_{m=1}^{\infty} \frac{v}{v+m+1} a_{m} z^{m} \quad(v>0) \tag{10}
\end{equation*}
$$

is in $\Sigma_{p}(\delta, \beta)$, where

$$
\begin{equation*}
\delta(\tau, c, \alpha, \beta, v)=\frac{(m+1)(1+\beta)+\alpha v(1-\beta)+(1-\alpha)}{(v+m+1)(1+\beta)+(1-\alpha)} . \tag{11}
\end{equation*}
$$

The result is sharp for $f(z)=\frac{1}{z}+\frac{(1-\alpha)}{\phi(1, \tau, c)[3+2 \beta-\alpha]} z$.
Proof. Suppose $f(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m}$ is in $\Sigma_{p}(\tau, c, \alpha, \beta)$. We have
$f(z)=v z^{-v-1} \int_{0}^{z} t^{v} f(t) d t=\frac{1}{z}+\sum_{m=1}^{\infty} \frac{v}{v+m+1} a_{m} z^{m} \quad(v>0)$.
A.S. Shinde, R.N. Ingle, P.T Reddy - Subclass of Meromorphic Functions . . .

It is sufficient to show that

$$
\begin{equation*}
\sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\delta]}{1-\delta} \frac{v}{v+m+1} a_{m} \leq 1 \tag{12}
\end{equation*}
$$

Since $f(z)$ is in $\Sigma_{p}(\tau, c, \alpha, \beta)$, we have

$$
\begin{equation*}
\sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{1-\alpha}\left|a_{m}\right| \leq 1 \tag{13}
\end{equation*}
$$

Thus (12) will be satisfied if
$\sum_{m=1}^{\infty} \frac{[(1+\beta)(m+1)+1-\delta]}{1-\delta} \frac{v}{v+m+1} \leq \sum_{m=1}^{\infty} \frac{[(1+\beta)(m+1)+1-\alpha]}{1-\alpha}$.
Solving for $\delta$, we obtain

$$
\begin{equation*}
\delta \leq \frac{(1+\beta)(m+1)+\alpha v(1-\beta)+(1-\alpha)}{(v+m+1)(1-\beta)+(1-\alpha)}=G(m) \tag{14}
\end{equation*}
$$

A simple computation will show that $G(m)$ is increasing and $G(m) \geq G(1)$. Using this, the result follows.

## 5. Convex linear combinations and convolution properties

In this section we obtain sharp for $f(z)$ is meromorphically convex of order $\delta$ and necessary and sufficient condition for $f(z)$ is in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$ and also proved that convolution is in the class.

Theorem 6. If the function $f(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m}$ is in $\Sigma_{p}(\tau, c, \alpha, \beta)$ then $f(z)$ is meromorphically convex of order $\delta(0 \leq \delta<1)$ in $|z|<r=r(\tau, c, \alpha, \beta, \delta)$ where

$$
r(\tau, c, \alpha, \beta, \delta)=\inf _{m \geq 1}\left\{\frac{(1-\delta) \phi(m, \tau, c,)[(1+\beta)(1+m)+1-\alpha]}{(1-\alpha) m(m+2-\delta)}\right\}^{\frac{1}{m+1}}
$$

The result is sharp.
Proof. Let $f(z)$ be in $\Sigma_{p}(\tau, c, \alpha, \beta)$. Then, by Theorem 1, we have

$$
\begin{equation*}
\sum_{m=1}^{\infty} \phi(m, \tau, c,)[(1+\beta)(1+m)+1-\alpha]\left|a_{m}\right| \leq(1-\alpha) \tag{15}
\end{equation*}
$$

It is sufficient to show that $\left|2+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right| \leq(1-\delta)$ for $|z|<r=r(\tau, c, \alpha, \beta, \delta)$, where $r(\tau, c, \alpha, \beta, \delta)$ is specified in the statement of the theorem. Then

$$
\left|2+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right|=\left|\frac{\sum_{m=1}^{\infty} m(m+1) a_{m} z^{m-1}}{\frac{-1}{z^{2}}+\sum_{m=1}^{\infty} m a_{m} z^{m-1}}\right| \leq \frac{\sum_{m=1}^{\infty} m(m+1) a_{m}|z|^{m+1}}{1-\sum_{m=1}^{\infty} m a_{m}|z|^{m+1}}
$$

This will be bounded by $(1-\delta)$ if

$$
\begin{equation*}
\sum_{m=1}^{\infty} \frac{m(m+2-\delta)}{1-\delta} a_{m}|z|^{m+1} \leq 1 \tag{16}
\end{equation*}
$$

By (15), it follows that (16) is true if

$$
\begin{gather*}
\frac{m(m+2-\delta)}{1-\delta}|z|^{m+1} \leq \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{1-\alpha}\left|a_{m}\right| \quad(m \geq 1) \\
\quad \text { or } \quad|z| \leq\left\{\frac{(1-\delta) \phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha) m(m+2-\delta)}\right\}^{\frac{1}{m+1}} \tag{17}
\end{gather*}
$$

Setting $|z|=r(\tau, c, \alpha, \beta, \delta)$ in (17), the result follows. The result is sharp for the function

$$
f_{m}(z)=\frac{1}{z}+\frac{(1-\alpha)}{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]} z^{m} \quad(m \geq 1)
$$

Theorem 7. Let $f_{0}(z)=\frac{1}{z}$ and $f_{m}(z)=\frac{1}{z}+\frac{(1-\alpha)}{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]} z^{m} \quad(m \geq 1)$. Then $f(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m}$ is in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$ if and only if it can be expressed in the form $f(z)=\omega_{0} f_{0}(z)+\sum_{m=1}^{\infty} \omega_{m} f_{m}(z)$, where $\omega_{0} \geq 0, \omega_{m} \geq 0, m \geq 1$ and $\omega_{0}+\sum_{m=1}^{\infty} \omega_{m}=1$.

Proof. Let $f(z)=\omega_{0} f_{0}(z)+\sum_{m=1}^{\infty} \omega_{m} f_{m}(z)$ with $\omega_{0} \geq 0, \omega_{m} \geq 0, m \geq 1$ and $\omega_{0}+$
$\sum_{m=1}^{\infty} \omega_{m}=1$. Then

$$
\begin{aligned}
f(z) & =\omega_{0} f_{0}(z)+\sum_{m=1}^{\infty} \omega_{m} f_{m}(z) \\
& =\frac{1}{z}+\sum_{m=1}^{\infty} \omega_{m} \frac{(1-\alpha)}{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]} z^{m}
\end{aligned}
$$

$$
\text { Since } \sum_{m=1}^{\infty} \frac{[\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)} \omega_{m} \frac{(1-\alpha)}{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}
$$

$$
=\sum_{m=1}^{\infty} \omega_{m}=1-\omega_{0} \leq 1
$$

By Theorem 1, $f(z)$ is in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$.
Conversely suppose that the function $f(z)$ is in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$, since

$$
\begin{gathered}
a_{m} \leq \frac{(1-\alpha)}{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]} z^{m} \quad(m \geq 1) \\
\omega_{m}=\sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)} a_{m} \text { and } \omega_{0}=1-\sum_{m=1}^{\infty} \omega_{m}
\end{gathered}
$$

It follows that $f(z)=\omega_{0} f_{0}(z)+\sum_{m=1}^{\infty} \omega_{m} f_{m}(z)$.
This completes the proof of the theorem.
For the functions $f(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m}$ and $g(z)=\frac{1}{z}+\sum_{m=1}^{\infty} b_{m} z^{m}$ belongs to $\Sigma_{p}$, we denoted by $(f * g)(z)$ the convolution of $f(z)$ and $g(z)$ and defined as

$$
(f * g)(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} b_{m} z^{m}
$$

Theorem 8. If the function $f(z)=\frac{1}{z}+\sum_{m=1}^{\infty} a_{m} z^{m}$ and $g(z)=\frac{1}{z}+\sum_{m=1}^{\infty} b_{m} z^{m}$ are in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$ then $(f * g)(z)$ is in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$.

Proof. Suppose $f(z)$ and $g(z)$ are in $\Sigma_{p}(\tau, c, \alpha, \beta)$. By Theorem 1, we have

$$
\sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)} a_{m} \leq 1
$$

$$
\text { and } \sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)} b_{m} \leq 1
$$

Since $f(z)$ and $g(z)$ are regular are in $E$, so is $(f * g)(z)$. Further more

$$
\begin{aligned}
& \sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)} a_{m} b_{m} \\
& \leq \sum_{m=1}^{\infty}\left\{\frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)}\right\}^{2} a_{m} b_{m} \\
& \leq\left(\sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)} a_{m}\right) \\
& \quad\left(\sum_{m=1}^{\infty} \frac{\phi(m, \tau, c,)[(1+\beta)(m+1)+1-\alpha]}{(1-\alpha)} b_{m}\right)
\end{aligned}
$$

$$
\leq 1
$$

Hence, by Theorem $1,(f * g)(z)$ is in the class $\Sigma_{p}(\tau, c, \alpha, \beta)$.

## 6. Neighborhoods for the class $\Sigma_{p}(\tau, c, \alpha, \beta, \gamma)$

In this section we define the $\delta$-neighborhood of a function $f(z)$ and establish a relation between $\delta-$ neighborhood and $\Sigma_{p}(\tau, c, \alpha, \beta, \gamma)$ class of a function.

Definition 2. A function $f \in \Sigma_{p}$ is said to in the class $\Sigma_{p}(\tau, c, \alpha, \beta, \gamma)$ if there exists a function $g \in \Sigma_{p}(\tau, c, \alpha, \beta)$ such that

$$
\begin{equation*}
\left|\frac{f(z)}{g(z)}-1\right|<(1-\gamma) \quad(z \in E, 0 \leq \gamma<1) . \tag{18}
\end{equation*}
$$

Following the earlier works on neighborhoods of analytic functions by Goodman [2] and Ruschweyh [6]. We defined the $\delta$-neighborhood of a function $f \in \Sigma_{p}$ by

$$
\begin{equation*}
N_{\delta}(f)=\left\{\left.g \in \Sigma_{p}\left|g(z)=\frac{1}{z}+\sum_{m=1}^{\infty} b_{m} z^{m}: \sum_{m=1}^{\infty} m\right| a_{m}-b_{m} \right\rvert\, \leq \delta\right\} . \tag{19}
\end{equation*}
$$

Theorem 9. If $g \in \Sigma_{p}(\tau, c, \alpha, \beta)$ and

$$
\begin{equation*}
\gamma=1-\frac{\delta[3+2 \beta-\alpha] \phi(1, \tau, c)}{[3+2 \beta-\alpha] \phi(1, \tau, c)-1+\alpha} \tag{20}
\end{equation*}
$$

then $N_{\delta}(g) \subset \Sigma_{p}(\tau, c, \alpha, \beta, \gamma)$.

Proof. Let $f \in N_{\delta}(g)$. Then we find from (19) that

$$
\begin{equation*}
\sum_{m=1}^{\infty} m\left|a_{m}-b_{m}\right| \leq \delta \tag{21}
\end{equation*}
$$

which implies the coefficient of inequality $\sum_{m=1}^{\infty}\left|a_{m}-b_{m}\right| \leq \delta \quad(m \in \mathbb{N})$.
Since $g \in \Sigma_{p}(\tau, c, \alpha, \beta)$, we have $\sum_{m=1}^{\infty} b_{m}=\frac{1-\alpha}{[3+2 \beta-\alpha] \phi(1, \tau, c)}$.
So that

$$
\left|\frac{f(z)}{g(z)}-1\right|<\frac{\sum_{m=1}^{\infty}\left|a_{m}-b_{m}\right|}{1-\sum_{m=1}^{\infty} b_{m}} \leq \frac{\delta[3+2 \beta-\alpha] \phi(1, \tau, c)}{[3+2 \beta-\alpha] \phi(1, \tau, c)-1+\alpha}=1-\gamma,
$$

provided $\gamma$ is given by (20).
Hence, by Definition $2, f \in \Sigma_{p}(\tau, c, \alpha, \beta, \gamma)$ for $\gamma$ given by (20), which completes the proof of theorem.

Acknowledgments: The authors warmly thanks to the editor and referees for the careful reading of the paper and their comments.

## References

[1] Deniz, E., Orham, H. and Srivastava, H.M., Some sufficient conditions for univalence of certain families of integral operators involving generalized Bessel functions, Taiwan J. Math., 15(2) (2011), 883-917.
[2] Goodmam, A. W., Univalent functions and non-analytic curves, Proc. Amer. Math. Soc., 8 (1957), 598-601.
[3] Miller, J.E., Convex meromorphic mapping and related functions, Proc. Amer. Math. Soc., 25 (1970), 220-228.
[4] Mogra, M.L., Reddy, T.R. and Juneja, O.P., Meromorphic univalent functions with positive coefficients, Bull. Aust. Math. Soc. 32, (1985),161-176.
[5] Pommerenke, Ch., On meromorphic starlike functions, Pac. J. Math., 13 (1963), 221-235.
[6] Ruscheweyh St., Neighbourhoods of univalent functions, Proc. Amer. Math. Soc., 81 (1981), 521-527.
A.S. Shinde, R.N. Ingle, P.T Reddy - Subclass of Meromorphic Functions . . .
[7] Venkateswarlu, B., Thirupathi Reddy, P. and Rani, N., Certain subclass Of meromorphically uniformly convex functions with positive coefficients, Mathematica (Cluj), 61 (84) (1) (2019), 85-97.
[8] Venkateswarlu, B., Thirupathi Reddy, P. and Rani, N., On new subclass of meromorphically convex functions with positive coefficients, Surveys in Math. and its Appl., 14 (2019), 49-60.
[9] Watson, G.N., A Treatise on the theory of Bessel functions, 2nd edn. Cambridge University Press, Cambridge (1994).

Akanksha S. Shinde
Department of Mathematics, VPM's BN Bandodkar College of Science, Thane West - 422 601, Maharashtra, India.
email: akankshashinde1202@gmail.com
Rajkumar N. Ingle
Department of Mathematics, Bahirji Smarak Mahavidyalay, Bashmathnagar - 431 512, Hingoli Dist., Maharashtra, India.
email: ingleraju11@gmail.com
P. Thirupathi Reddy

Department of Mathematics, Kakatiya Univeristy, Warangal- 506 009, Telangana, India.
email: reddypt2@gmail.com

